Weak Twos in Three Suits

What do they show?
Responses to Weak Twos
— Bidding a new Suit

— Raising to the 3-level

— 2NT Feature Request

Defence to Weak Twos
Strong Hands with about 20-22 pts

Weak Twos in Three Suits

2& - 23+ points, or fewer points with game in your own
hand. This is the same as in normal Acol.

24 - Weak: 5-10 points, 6 diamonds
2v - Weak: 5-10 points, 6 hearts
2a - Weak: 5-10 points, 6 spades

Good Quality 6-card suit (at least 2 honours)

On BBO you self-alert all these bids:
ALERT: WEAK or ALERT: STRONG, ARTIFICIAL




Typical Weak Twos

AaKQJ975
v75
*6
%9632 (6pts)

24

AaQ108752
v75
¢ 064
% K105 (5pts)

2 & non-vul, but
pass if vulnerable

AaKQS8
v75

¢ KJ9765
% J 10 (10pts)

2 ¢ (maximum pts)

Responding to a Weak Two

Typically need about 16pts to make game (in a
major), or fewer points with a good fit.

Responding to 2%:

AaQ1098 AaKQJI108 |[aA2 A2

v75 v75 vATS vK1075

¢ AKS52 ¢QJ97 ¢ KQJ97 ¢KQ1094

K105 *J 10 % K108 ® 952

(12pts) (10pts) (17pts) (8 pts)

Pass Pass 4 9 4 ¥ (10-card
trump fit)




Responding in a new suit
West (8pts) East (15pts)
a 10 AGS52
vQ32 vKJ1096
¢ KQJ982 ¢ A2
w1072 s AKS
2¢ 2%
3v 4w

Bidding a new suit at the 3 level is forcing, showing a 5+
good suit. At the 2 level it is encouraging, but not forcing.

Here 4% should be easier to make (and score better) than 5 ¢

Raise to the 3-level
West (7pts) East (7pts)
A 10 A652
vAQJ982 vK75
¢ Q82 10654
& 1072 &»AS53
2v 3w
Pass

A raise to the 3-level is NOT invitational, it is just
raising the pre-empt.Typically shows three trumps
and a weak hand (especially non-Vul).




2NT Feature Request
West (7pts) East (15pts)
a104 AKQS8
vAQJ982 vK75
¢+ 98 ¢QJI072
% 1072 A5
2% |2NT
3w | Pass

2NT asks your partner to show a feature in a side
suit (A, K, or Q J combination) unless he has a
bare minimum).

2NT Feature Request

West East (15pts)

AKQS8
vK75
¢QJ1072
2AS

2% [2NT
3¢ 4w

2NT asks your partner to show a feature in a side
suit (A, K, or Q J combination) unless he has a
bare minimum).




2NT Feature Request
West (9pts) East (15pts)
a104 AKQS8
vAQI10982 vK75
¢ K8 ¢QJI072
% 1072 A5
2% |2NT
3e |4

2NT asks your partner to show a feature in a side
suit (A, K, or Q J combination) unless he has a

bare minimum).

DLR: West a8 WINJE] S
VUL: NS vAQT74 L
¢ K654
& A J 10 2x14pts)
AaAQ10432 . AK975
v963 - - v_&82
¢ 98 < ¢ A3
& 54 (6pts) & Q9876 ©@ts)
AJO
vKJ105
¢QJI1072

& K 3 11pts)




DLR: West AaKJ9 Wil N J|ELS
VUL: NS vAQT *loew| |
¢ K65
& A 1072 pts)
AAQI10432 N ! SIS
v963 o 5 vJ1084
¢ 98 S ¢J43
& 54 (6pts) s K Q JO (9pts)
A86
vK52
¢ AQI1072

& 8 6 3 ©9pts)

Unbalanced hands with about 20 points

v75
+KQ2

AAKQ753

& A 10 (18pts)

v7
+KQJ

AaAK10954

& AKS5 (20pts)

vKQ
¢+ A10

aKQJ72

& AKS52 (22pts)




Unbalanced hands with about 20 points

AAKQ753 1a
v75

¢+ KQ2

% A 10 (18pts)
AAK10954
v7

¢ KQJ

& AKS5 (20pts)
AKQJ72
vKQ

¢ AlO

& AKS52 (22pts)

Unbalanced hands with about 20 points

AAKQ753 1a
v75

¢+ KQ2

& A 10 (18pts)
AAK10954 2& (only 4 likely
v7 losers)

¢ KQJ

& AKS5 (20pts)
AKQJ72
vKQ

¢ A10

& AKS52 (22pts)




Unbalanced hands with about 20 points

AAKQ753 1a
v75

¢+KQ2

% A 10 (18pts)
AaAK10954 2 (only 4 likely
v7 losers)

¢ KQJ

& AKS5 (20pts)
AaKQJ72 2& or 2NT?
vKQ

¢ A0

& AKS52 (22pts)

[f Playing Weak Twos in Three
Suits

* Open most 22 point hands with 2& (unless
you can bid 2NT)

* Try to respond to one of a suit if you have
5+ points (partner could have up to 21
points).




